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[Enter t1d conmands <7 returns help information)
= 1 Contains Cartridge = no

= 1 Contains Cartridge = no

1 Caddr 1) contains Cartridge
2 Caddr 2) contains Cartridge
3 Caddr 3) contains Cartridge
4 Caddr 4) contains Cartridge
5 Caddr §) contains Cartridge
6 Caddr 6 contains Cartridge
7 Caddr ?) contains Cartridge
8 Caddr 8) contains Cartridge
9 Caddr 93 contains Cartridge =
10 Caddr 10) contains Cartridge = no
11 Caddr 11> contains Cartridge = yes
Source address = 1
[Barcode = DAOG2S
slot 12 Caddr 12> contains Cartridge = yes
ddress = 12
= DAom26
Caddr 13 contains Cartridge = yes
="Daom2?
Caddr 14> contains Cartridge = yes
="Daoa2g
Caddr 15> contains Cartridge = yes
="DAoa29
[<C Press return to continue, or g and return to stop >>

contains Careridge = yes
contains Careridge = yes
contains Careridge = yes
contains Careridge = yes
contains Careridge = yes
contains Careridge = yes

contains Cartridge = yes

[READ ELENMENT STATUS complete
Initiating MOUE_MEDIUN from address 12 to 81
[MOUE_MEDIUM complete

Caddr 81) access = @ Contains Cartridge = yes
ddress = 12 (slot 12>
= DhAoa26
f£rom drive 1 is 3
Caddr 82> access = 1 Contains Cartridge = no
from drive 2 is 4
[RERD_ELEMENT_STATUS complete
unload a1
[Opening €4.8.2.0, on the local host, please wait...
[No media in drive (4,8.2,8
n a1 s12
Initiating MOUE_MEDIUN from address 81 to 12
[MOUE_MEDIUM complete





